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1. Trafafea & @ fopg foama dwiehtor o gl o1 IThd 4 7 2

(a) 2x2-4x+8=0 b) —-x2+4x+4=0

(c) J§x2—ix+1=0 (d) 4x2-4x+4=0

J2

2. TS 14 cm I TH g9 & BsA@E, TR heg HI0 90° &, i G <1 hi
TS T & 2

(a) 22 cm (b) 44 cm
(c) 88 cm (d 1lcm
30/2/1 ~~~~ Page 2



£

General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)
(ii)
(ii1)
(iv)
(v)
(vi)

(vit)

(viii)

(ix)

(x)

This question paper contains 38 questions. All questions are compulsory.
This question paper is divided into five Sections — A, B, C, D and E.
In Section A, Questions no. 1 to 18 are multiple choice questions (MCQs) and

questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

In Section B, Questions no. 21 to 25 are very short answer (VSA) type
questions, carrying 2 marks each.

In Section C, Questions no. 26 to 31 are short answer (SA) type questions,
carrying 3 marks each.

In Section D, Questions no. 32 to 35 are long answer (LA) type questions
carrying 5 marks each.

In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each. Internal choice is provided in 2 marks questions in each
case-study.

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and
3 questions in Section E.

. . 22 : .
Draw neat diagrams wherever required. Take © = - wherever required, if not
stated.

Use of calculators is not allowed.

SECTION A

This section comprises multiple choice questions (MCQs) of 1 mark each.

Which of the following quadratic equations has sum of its roots as 4 ?

(a) 2x2-4x+8=0 b) —-x2+4x+4=0

(c) \/§X2—%x+1=0 d 4x2-4x+4=0

What is the length of the arc of the sector of a circle with radius 14 cm
and of central angle 90° ?

(a) 22cm (b) 44 cm
(c) 88 cm (d) 11 cm

30/2/1 ~~~~ Page 3 P.T.O.
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J@ AABC~APQRH, /A=32°3 /R=65°%, dl /B 49 7 :

(a) 32° (b)  65°
() 83° (d) 97°

g p’ 3N ‘q’ Thd T § AR p’ &A1 ‘q’ 1 TN &7, a1 p’ 3 ‘g’ 1 HCF
T I 2

(@  pq b)) p

(c) q (d p+q

T ™A ABCD & o 3fis B(0, 0), C(3, 0) 31X D(0, 4) &, 35 ¥ A %
K

(a) (4,0) (b) (0, 3)

c (3,4 d (4,3

Ifg ARt 9 3x —y + 8 = 0 3R 6x — ry + 16 = 0 g F&lUa @ FUTdt
&, @ o 1 W E

1 1
(a) _E (b) E
(c) -2 d 2
T A H 100 T & N W 18 100 Teh h! TEAT 3Afhd & | 30 9 § § Th
T ATg=SAT THeRTell ST 8 | 39 9d W Teh U1 o HEAT 3Afehd 8 ol TTHIha

T BT 2

1 3
(a) 2—0 (b) %
1
(C) % (d) m

TR I x = a AN y = b g1 FEa @K amhT 9 7 -
(a) YO 9T Bidl &

(b)  fomg (b, a) W uf=dt Bl 8

(¢)  HUt BIdl &

(d) fawg (a, b) W f=adl Bt 8
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3. If A ABC ~ A PQR with £ A = 32° and £ R = 65°, then the measure of

ZBis:
(a) 32° (b)  65°
(c) 83° d 97
4, If ‘p’ and ‘q’ are natural numbers and ‘p’ is the multiple of ‘q’, then what is
the HCF of ‘p’ and ‘q” ?
(a)  pq (b) p
(c) q (d p+q
5. The coordinates of the vertex A of a rectangle ABCD whose three vertices
are given as B(0, 0), C(3, 0) and D(0, 4) are :
(a) (4,0) (b) (0, 3)
(c) 3, 4) d (4,3)

6. If the pair of equations 3x —y + 8 = 0 and 6x — ry + 16 = 0 represent

coincident lines, then the value of T’ is :

1 1
_= b -
(a) 5 (b) 5
(c) -2 d 2
7. A bag contains 100 cards numbered 1 to 100. A card is drawn at random

from the bag. What is the probability that the number on the card is a
perfect cube ?

1 3
il b =
(a) 20 (b) =0
1 7
il d _
(c) o7 (d) 100
8. The pair of equations x = a and y = b graphically represents lines which

are :
(a) parallel

(b)  intersecting at (b, a)
(c) coincident

(d) intersecting at (a, b)

30/2/1 ~~~~ Page 5 P.T.O.



10.

11.

12.

30/2/1

I¢ 989G 6x2 + 37x — (k — 2) I Ueh I, GO YA 1 Goshd 8, Al k I
T &1 8T 2

(a) -4 (b) -6

(c) 6 (d 4

Ush 39 AL, Freht = d’ =, 1 AU IEI &A% 9T BT 2

(a) 3nd? ®b) 2nd?
1 ) 3 2
(c) 3 nd (d) 1 nd

Ife 9 Tooer w Ty 3BT @ B, d1 AUH-H-ARIEH Tk U Ud B hl
TTfRrehdT T BT 2

3
(a) 3 (b)

0 | >

5
(C) g (d)

00|

@ 7% pid H, DE | BC | Al AD = 2 313, DB = AE = 3 [ 3R
ECzXSW'S‘%,?ﬁXWﬂH@"T[:

(a) 2 (b)
(¢) 5 (d)

oo W
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10.

11.

12.

30/2/1

If one zero of the polynomial 6x2 + 37x — (k — 2) is reciprocal of the other,
then what is the value of k ?

(a) -4 (b) -6
(c) 6 (d 4

What is the total surface area of a solid hemisphere of diameter ‘d’ ?

(a) 3nd? ®b) 2nd?
1 9 3 2
(c) 3 nd (d) 1 nd

If three coins are tossed simultaneously, what is the probability of getting

at most one tail ?

3
(a) g (b)

0 | >

5
(C) g (d)

oo | 3

In the given figure, DE | BC. If AD = 2 units, DB = AE = 3 units and

EC = x units, then the value of x is :

(a) 2 (b)
(¢) 5 (d)

oo WP

~SN~~ Page 7 P.T.O.



14.

15.

16.

17.

Q%H@ﬁﬁ%ﬁﬂé(ﬁcmﬁ% |3H§§§'R'f7:20a.m.3ﬁT7:55a.m.%
= T o7 q g, 98 7

35 35)°
(c)  35° d  70°

UG p(x) = x2 + 4x + 3 % IH @ :
(a 1,3 (b) -1,3
¢ 1,-3 d -1,-3

& TS ARG H, T g0 o TIUTT Th Igyst PQRS ST 8 | J&T PA + CS TS
7

a) QRS ®b) PR
¢ PS® @ PQ®

aﬁoc?:ﬁTB,%El'l?fa@q'q'p(x)=x2—ax—b%W§,Fﬁoc2+[32mtl'|7-[
B

(a) a2 - 2b (b) a2 +2b
() b%-2a @ Db+ 2a
2 + % = 1 7o fideneh @red @ s° B 1 &9
(@) ab (b) % ab
1
(©  ab d 2ab

30/2/1 ~~~~ Page 8



14.

15.

16.

17.

The hour-hand of a clock is 6 cm long. The angle swept by it between
7:20 a.m. and 7:55 a.m. is:

35Y 35Y
(a) (Zj (b) (7)

()  35° (d  70°

The zeroes of the polynomial p(x) = x2 + 4x + 3 are given by :
a 1,3 (b) -1,3

(c) 1,-3 d -1,-3

In the given figure, the quadrilateral PQRS circumscribes a circle. Here
PA + CSis equal to :

(a) QR (b) PR
(c) PS d PQ

If o and B are the zeroes of the quadratic polynomial p(x) = x2 — ax — b,

then the value of a2 + B2 is :

(a) a2-2b (b) a2+2b
(© b’-2a d b*+2a
The area of the triangle formed by the line X +% = 1 with the coordinate
a
axes is :
() ab (b)  Zab
1
(c) Zab (d 2ab

30/2/1 ~~~~ Page 9 P.T.O.
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18.

& Tg TMHd H, AB || PQ | I AB=6cm, PQ=2cm 3R OB=3 cm ¥, @

OP <1 TwalTs 8111
B

A
(a) 9Y9cm (b) 3Scm

(c) 4 cm (d lcm

Jo7 GEIT 19 3R 20 379FYT Tq T STIRG F97 & 3K T9% J97 1 1 3F
& 1 51 F97 1Y Y & (5774 T @l STHIT (A) T TR 1 T (R) GRT 3l 137 797
8 1 37 I57 & gl 3T 77 13T 7T F1sT (a), (b), (c) 3K (d) § @ g7 T |

19.

20.

30/2/1

(a) AR (A) 3R T (R) QHI H&l 8 HR qoh (R), AR (A) hl Hal
ST T 3 |

(b)  AfYHA (A) 3R Th (R) THI Fal &, g b (R), 3WHAT (A) i &t
ST g1 w8 |

(c)  AfTH (A) Tl B, T b (R) Tid & |

(d)  AIHA (A) Tord B, Tg db (R) T& 7 |

BT (A) :  Ia % fopel Tog W Ri-Er &l foag 8§ I arelt Brsan @ @

Bt & |
7% (R) : a1 foig | g0 W T T8 TRi@rsti hl AFargal seR el @ |
BT (A) :  FGIG p(x) = x2 + 3x + 3% QI ATk I 3 |
7% (R) : T fgard 9gug o 31fieh-H-31f¥e g1 ar&dfaeh Y 8l §hd @ |

~ Page 10



18. In the given figure, AB || PQ. If AB = 6 cm, PQ = 2 cm and OB = 3 cm,

then the length of OP is :
B
o Q
)
2
g
g ~
g
o (@)
P
A
(a) 9cm (b) 3cm
(c) 4cm (d lcm

Questions number 19 and 20 are Assertion and Reason based questions carrying
1 mark each. Two statements are given, one labelled as Assertion (A) and the
other is labelled as Reason (R). Select the correct answer to these questions from
the codes (a), (b), (c) and (d) as given below.
(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).
(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).
(c) Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.

19. Assertion (A): A tangent to a circle is perpendicular to the radius
through the point of contact.

Reason (R):  The lengths of tangents drawn from an external point to a
circle are equal.

20. Assertion (A) : The polynomial p(x) = x2 + 8x + 8 has two real zeroes.

Reason (R): A quadratic polynomial can have at most two real zeroes.

30/2/1 ~a~~ Page 11 P.T.O.
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$F GUE ¥ 37l TY-ITHIT (VSA) TR & 97 &8, 5779 J&F & 2 375 & |

21.

22,

23.

24.

25.

30/2/1 ~SN~~

fag ifSw f6 2 + V3 & iy T g, e mn g f6 V3t swufmm
T R |
() EIﬁ4cot245°—sec260°+sin260"+p:%%,?‘ﬁpW13!'Ff$|'|?l‘°ﬁ'%l’§|

AT

(@) 9f¢ cosA+cos2A=1%7,dl sin2 A + sin A 1 U 1 hIfT |

gy foh o5 (— 2, 8), (8, 3) 3T (6, 7) Teh WHAIU Ty o 3MMH & |

(%) Uh 9dd sHH | Gl HHAR Hi BM, WAR Hl Sa15 il /3 T Tl
2 | g 1 3T 1 HIf |

AT

(@) oW % wh fog @, S #R % die-foig ¥ 30 m 1 gl W 7, HHR =
fRRER &1 I 101 30° 2 | HIMR shl =18 A1 HINT |

@ TS SMHIT H, I A hg O 7 | fog A € 36 99 W AB 3R AC TRi@d
it 8 § | I £ BAC = 65°%, @ ~ BOC =1 HTY HTad I |
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SECTION B

This section comprises very short answer (VSA) type questions of 2 marks each.

21. Prove that 2 + +/3 is an irrational number, given that V3 is an irrational

number.

22, (a) If4 cot245° — sec2 60° + sin2 60° + p= %, then find the value of p.

OR
(b)  If cos A + cos? A = 1, then find the value of sin? A + sin? A.

23. Show that the points (-2, 3), (8, 3) and (6, 7) are the vertices of a
right-angled triangle.

24. (a) The length of the shadow of a tower on the plane ground is /3
times the height of the tower. Find the angle of elevation of the
sun.

OR

(b)  The angle of elevation of the top of a tower from a point on the
ground which is 30 m away from the foot of the tower, is 30°. Find
the height of the tower.

25. In the given figure, O is the centre of the circle. AB and AC are tangents
drawn to the circle from point A. If £ BAC = 65°, then find the measure of
2 BOC.

30/2/1 ~a~~ Page 13 P.T.O.
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Qus T

3T GV § TY-ITHIT (SA) FHR & J97 &8, 79 I8% & 3 375 & |

26. (%) @A 18180 3R 7575 HI IUNT PHEeA fafg g LCM Fm@
HifST | 39§ TEneAt w1 HCF +ft 3ira shifre |
HAUAT

(@) = =fear 6, 12 X 18 el & Iata W awrd! 2 | Jfe 3 di=i gfext
T A1 6 a.m. WS &, a 3Heh UG o A1 Toh 1Y e Sl ?

27. fag S .
1

1 1 )
—cos 0O - —sinB | =
cos O sin O tan 6 + cot O

28. 3l fog Q(0, 1), Toigati P(5, — 3) 3T R(x, 6) ¥ THEHM gl W &, I x % A
M Hfer |

29. TH HR & q AEW (wipers) &, I TR FHff A=aiiesd T8 B & | T+
IR <h1 I HI TS 21 cm & R 120° % IV qh FH HL THIS HL Hehd]
2 | gFl gl 1 % §ER % WY A &% @16 g ST 8, 98 9
HifS |

30. (&) 3 INgs gt Feem

2x + 3y =7 dAT 2ax + (a + b)y =28
% IMifid ®9 & 3FF g &, dl ‘@’ 3 b’ A F1d I |

AT

(@) d=fe 217x + 131y = 913 3R 131x + 217y = 827 &, dl x W y & UH
3T i o foTu gt g hifve |
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SECTION C

This section comprises of short answer (SA) type questions of 3 marks each.

26. (a) Find by prime factorisation the LCM of the numbers 18180 and
7575. Also, find the HCF of the two numbers.

OR

(b)  Three bells ring at intervals of 6, 12 and 18 minutes. If all the

three bells rang at 6 a.m., when will they ring together again ?

27. Prove that:

1 1 ) 1
—cos 0 - —sinf | = .
cos O sin O tan 0 + cot O

28. If Q(0, 1) is equidistant from P(5, — 3) and R(x, 6), find the values of x.

29. A car has two wipers which do not overlap. Each wiper has a blade of
length 21 cm sweeping through an angle of 120°. Find the total area

cleaned at each sweep of the two blades.

30. (a) Ifthe system of linear equations
2x + 3y =7 and 2ax + (a + b)y =28
have infinite number of solutions, then find the values of ‘a’
and b’
OR
(b) If 217x+ 131y = 913 and
131x + 217y = 827,
then solve the equations for the values of x and y.

30/2/1 ~a~~ Page 15 P.T.O.



32.

33.

34.

30/2/1

3l 7§ HAhId H, I H g O 991 QPR 0 % fog P W wmi@n 7 | fog
HIT f6 ~ QAP + ~ APR = 90°.

AT UG 45, 39, 33, ...

=TT IV |

(%) THG-AA ¥ 75 m S AR o MG & @4 W g THd T8N &
A HIU 30° IR 60° & | A ARFHE h Th & AR Th

LCLERS]
39 TS H FH-307 (LA) PR & J97 8, [978 9% & 5 3% & |

& fora< 9SG T INTHA 180 BT 2 gt I <hl

SRS g8 SRS o Sl WD B, a1 & @il o sfid i g F1d hIT |
(V3 =1-73 =1 F=WT Hifow)

AT

(@) 9ff % T fog ¥ TH 30 m S WA o R T ol T Har HMR
A 3R G % I 10 HH: 30° HR 60° & | TR HAR 6K =18

A IR | (V3 = 1-73 o1 T9IT shifsw)

Teh B A Al a1 foh T T W T TN ¥ oA dTefl i shi T&AT T
3 fire &1 100 s1afemt A foradt 8 R 38 = & 78 diferenr § gRIRE fopan
T 8 | fefaRaa sAteRet 1 Arew qen Aredss 19 I |

SR H

: 0-10[10-20(20-30|30— 40|40 — 50|50 — 60|60 — 70|70 — 80

&

EECIEGI

() 7 14 13 12 20 11 15 8
R N N

Page 16




In the given figure, O is the centre of the circle and QPR is a tangent to it
at P. Prove that £ QAP + £ APR = 90°.

A
7

R

SECTION D

This section comprises long answer (LA) type questions of 5 marks each.

32.

33.

34.

30/2/1

How many terms of the arithmetic progression 45, 39, 33,

taken so that their sum is 180 ? Explain the double answer.

(a)

must be

As observed from the top of a 75 m high lighthouse from the

sea-level, the angles of depression of two ships are 30° and 60°. If

one ship is exactly behind the other on the same side of the

lighthouse, find the distance between the two ships.
(Use v3 =1-73)

(b)

OR

From a point on the ground, the angle of elevation of the bottom

and top of a transmission tower fixed at the top of 30 m high
building are 30° and 60°, respectively. Find the height of the
transmission tower. (Use +/3 = 1-73)

A student noted the number of cars passing through a spot on a road for

100 periods each of 3 minutes and summarised it in the table given

below. Find the mean and median of the following data.

Number of 1 _ 10|10 - 20 |20 - 30|30 - 40 40 - 50| 50 — 60|60 — 70 70 - 80
Freql.lency 7 14 13 12 20 11 15 8
(periods)

-~~~ ~ Page 17 P.T.O.



35. (%) TH FYS ABC &l YU AB 3R BC Tq1 HAIEIh! AD T 3 BS
PQR 1 ShHST: SIsTi PQ 3T QR qe HIfedesht PM & THUT 3 |
gamse 6 A ABC ~APQR® |

HAYAT
(@) ¥R FIgYSt ABCD sl 491 CD % #ed-fog M @ U @1 BM @it T3
St fapul AC %! fog L W 3R §@18 M8 9o AD i fig E T wied! 2 |
fog it f% EL = 2BL.

Qs &

3G GV § 3 YR 37eqT STERT J97 & 1978 Ycdb & 4 37% & |

TRI0T T — 1
36. U {qael™ o ¥ fdad W yaeehl 4 394 T8 gHgR foenfe =t e
TR & |-y Wia-fag off g = | vl wih fug fome T smefa &
JAGT SFETET AT qAT $HRT YR ABCD dmH <hl 3R ¥ fe@ar ar | foer
AT BT @ T 20 9id o Y B |

®
3 cm 3 cm
A L7 B
39 & MR R, Frefafea s % 3w G :
(i)  =qufs ODCO & &bt 1 B ?

(i) A AOB I &I%A A HIWT |

(iii) (%) ABCD BHIfhd W T et T &1 F1 = =12 2
HAAAT

(iii) (@) =9 CD e weTE w1 ?

30/2/1 ~~~~ Page 18



35. (a) Sides AB and BC and median AD of a triangle ABC are
respectively proportional to sides PQ and QR and median PM of
A PQR. Show that A ABC ~ A PQR.

OR

(b)  Through the mid-point M of the side CD of a parallelogram ABCD,
the line BM is drawn intersecting AC in L. and AD (produced) in E.
Prove that EL = 2BL.

SECTION E

This section comprises 3 case study based questions of 4 marks each.

Case Study -1

36. In an annual day function of a school, the organizers wanted to give a
cash prize along with a memento to their best students. Each memento is
made as shown in the figure and its base ABCD is shown from the front

side. The rate of silver plating is ¥ 20 per cm?2.

3 cm 3 cm
A Ly B

Based on the above, answer the following questions :

(1) What is the area of the quadrant ODCO ? 1
(ii))  Find the area of A AOB. 1
(iii) (a) What is the total cost of silver plating the shaded part
ABCD? 2
OR
(iii) (b)  What is the length of arc CD ? 2

30/2/1 ~a~~ Page 19 P.T.O.
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ThI0T YA - 2

37. U HIHI GHM H H%l G & o Y H TH A 28 | Th HY dHHR 3
fSrgept =aM@ 7 cm 9 FEE 14 cm B 3N GHU FY AUMAT IHHR I 7
et =@ 21 em R |

3uYth % YN W, FHrfafad seai & I AT

(i) SRR Y o YR T FTHA JTd HIT |

() () AT U I &HAT FT R 2

AT

(i) (@) TR %Y Sl &HdT T I |
(iii) SRR HY H Igh THIT SAHA FIT B ?
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Case Study - 2

37. In a coffee shop, coffee is served in two types of cups. One is cylindrical in
shape with diameter 7 cm and height 14 cm and the other is

hemispherical with diameter 21 cm.

Based on the above, answer the following questions :

(1) Find the area of the base of the cylindrical cup. 1

(ii) (a) What is the capacity of the hemispherical cup ? 2
OR

(ii) (b)  Find the capacity of the cylindrical cup. 2

(iii) What is the curved surface area of the cylindrical cup ? 1

30/2/1 ~a~~ Page 21 P.T.O.



38.

ThI0T YA - 3

Heget-enaid foreqor fopeft off Ueft foreor wgfa 1 weffa wwar & <0 g=mm
THRUT o [T el 1 ITAN Ll & | T foame™ TR W, AedHisa
9T AISHIST ohl TGRIA S oh 1T I STTAN 1 ITANT TohaT ST Fhall & |
3EH < 1000 Tfhes 3 wreafies foameml W U waeur foeam mn on o

3ok IT8 1A e 9, Ik YR W 3¢ afichd Tehall TRAT T |
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HA hl TET 1-10 |[11-20 | 21-50 |51—100 e

e <k g 250 200 290 180 80

U T w1 Argesan @ TR e | A

(i) Ig=sd IIA fohU T foame™ § 100 § AU HRX BH i TRehT

A ST |
i) (+) Ageed wF e U fomme™ § 50 A 50 ¥ HH HR FH I
JTRIRAT FTd hITT |
AT
i) (@) Fgoedr =9 Ty U faeme™ # 20 ¥ AU X T B HI
TTRIRAT ST hIT |

(iii)  FTgoSA =¥ FRU MU fomme™ § 10 A1 10 ¥ HH HR B <hl TR
BIG %WHQ |
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Case Study -3

Computer-based learning (CBL) refers to any teaching methodology that

makes use of computers for information transmission. At an elementary

school level, computer applications can be used to display multimedia

lesson plans. A survey was done on 1000 elementary and secondary

schools of Assam and they were classified by the number of computers
they had.

Number of 1-10 | 11-20 | 21-50 |51—100 |101and
Computers more
Number of 250 200 290 180 80
Schools

30/2/1

One school is chosen at random. Then :
(1) Find the probability that the school chosen at random has more
than 100 computers.

(ii)) (a) Find the probability that the school chosen at random has

50 or fewer computers.
OR

Find the probability that the school chosen at random has
no more than 20 computers.

Find the probability that the school chosen at random has 10 or
less than 10 computers.

G)  (b)

(iii)

N N N
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